[@)GOULDS PUMPS  #7R%%

HHAE BFER
Engineered for life

GOULDS PUMPS




[GGOULDS PUMPS /% @ LOWARA =hx

Bell & Gossett

IKZ BRI TTEHAATE

ITT (Fix) AR A FEr

ITTER)ARASRSHREANKRFSER - TTASEHENSTEFAS ., FaEZEEIAITT Goulds Pumps,
LowaraffiBell&GossettZF 7 & & mig, M2 E2LHRFAATEHNER. EBZRERN T LEFERFERARANANSE,
AT ERFRBEMLABLRER. ZHR, FEWNEAR. HHR4A, HXKV4E TMRAFFHENT®RI. H
FaEES, URNSEPFRABSTEZENMATIW. ik, k. BRW. EASeRESF S E.

ITT (Manjing) Co., Ltd is the sole investment subsidiary company in China of the largest water pumps manufacture group — ITT
Company in the world, its products mainly include, ITT Goulds Purmmps, Lowara and Bell & Gossett, the world famous brands, they
are respectively the leaders of manufacturing technology of commercial stainless steel pumps, heating, ventilating and air conditioning
pumps and industrial turbine purmps in the world, The company's main products are various types of wvertical and horizontal single
stage and multi—stage pumps, commercial stainless steel pumps, stainless steel submerged pumps, submerged sewage pumps, split
pumps, end suction pumps, major axis deep well pumps, sinking submersible pumps, fire pump sets, water supply unit series,
frequency conversion systems and so on, altogether several hundreds of product series. With characteristics of high efficiency,
practicality and convenience for maintenance, its products are widely used in areas such as industry, commerce, municipal works,

construction, fire fighting and water spraying for the green.

Sk R EBLT B=Akm TR R

RICH! RS A 55 [ Py 12l 45«

ZIRKEFFR A4S R KT REE LS g JIIE A RXEREE ol i aplibae 1l

FRIEKE T AT R K E T HIEET R FEENRKAT LEEKLIEAT

KN RET WZRApRE ERRGRERLS BREANRKAE TREESFERRIE
ZERAFUKEFRAF S KET LBEUSRERAT B ERKAT MRS K RE

HIERER MK B AT RATHESE WRBEREHERAE  RECEMETER SEAFHARHRFATF

JEB UM FHE=F R EERAT DEILMEERAAT ZROEILT FB/ R AE AR TKEIRNA
EMIRER MEERRRENFRAS  RINHREHALT WEREMNT FH HFHE R R BT A RATRA S
JER =R E fE S AT Rk EL RN RE LS R AT R B AT wilaH (FE) FRAF

TR R B B SRR JEFK B R AKAT RERBHEER

LK E R R DHRFEAE WHEEEET BRERBRKAE s i

YITT

GOULDS PUMPS




RJC BUKIHIRH IR

11
1L
A

i

KAZRIEA™ S F A
= R

TTHREFIR (BER) BRATEFRICERFAHKKMEHR, RICEKREYS#HEETT T WEFRERAN S —HREFREATNKA
BANSFHERRITN> G, IRAZELZAEHTZ. TEREBEEEKADSIREESBIE, K27 EHFELRKE, £RIREERNEL
W ERVF A AR f.

= R

CBEASHAKOMBNEET, RATHZTIZRE. HAREBERAAESEIMNGTE, EHEE, FRUERAR. EAFGK.
. KERFEF, LLEMJ, 0, JCEUKRE2 8%, FRMLETHR, BHXEE, TIEREMI0-209%, HHEXREH.
. RARWERE, ¥EREMEMDRITHANGK.

1

2

3

4, Mg, SYMSRAEBALR. BARERENEERIOR. 3rmpl, RETER, RER.
5

6

7

. RESREW, BOX, ETHE. Ehiy,
. SE*EREAKREMEL. THEBHIMIMETES, THESEAFPNEAZEANEESEHRAZENENRE.
. TRFRERADNEDRFENFHREMIRT. DRTEAREEEE. ASTM304, 316, /16EFFHESHAFENAE, HHEEAFAESHE
IR RS ARER,
s HEH:

KT, KEY (8. BRARE) KB (T, £58& EHARE) . WK (BRABARSE) | RUER. BB, mEEmTL.
Q<2400m®/h, H<250m,

@ ITT GOULDS PUMPS




= RICKHIRIIR

TTH/REBIZRADRITHRFUNEENRAEEERERS
TREMEASE. RAREUTILMHHHKRESR.

Vi

iz I
I i

HAKO#E KA K O97E ROk
REEE LA REEMTH REZEWES

{Y ITT GOULDS PUMPS




= RICKHIZRIFIR

KA TR N4 i

1, Bl RARZTEEY (YLBR) | SR RIMmE MY
RE|BH,

WERE. BYHRHESE.

RE. RIBERE, MAERERHE,

FoEL. BEie, BEZEABEK,

HKEE. RERGENZZE.

LiEE. ®EREARKEE,

Lk, HHR,

HKF: RERGAAZREMME, #H. HT200,

9. MEedh. 2Cr13RERRASHMAKN (REEHE) .

10, wige. SREXF, AOEEESD, REZE. #H%. HT200,
1, M. 5hRiRaRit, &% LESTERE . FHmERN
B, DRIEETTTER. #EA. HT200 R,

12, ik, RS BERREA. THTE, FHiK.

13, F. EHRUSBEEEHRBL. HEA. SHWE.

14, BiWbER. RIP iR, BERRRE.

15, TRHR. WK, HERE. KMLTREET.

16, T35t ¥BKETHRENRNORESIHS @R, HElk.
HT200,

17, BKE/ KR, BRKEKEER, MARERKRE. BKAR
EERS (E A FRRIHEN .

18, femhfh. B (30#FM40H) | HRMBELAREESE. R\
RE, FUREML FEWME.

19, BARSH. #5R. HT200, RIBJ|EMRET HEH, FHEHM.

20, HER. MEARBRER. SHRTKESRT, ERRiEiE
HiE,

21, BKE, KER. BRKERRFERY, HERE, Bfiofwkn. B
BRI R R X BRI K,

22, fERA.  (EERH) MERHEESEBRE.

28, BE. BBKENNRESSEANTREES R,

24, SEERS. ERSEMIERE, @,

25, BERBmE M. DL TESR A RIEHANE R,

26, EEXHESR EEE EfHE 6,

27, XEE. EHKENEXESE.

0 ~ O O B W R

& ITT GOULDS PUMPS




* RICKHRIIRBASE

44 40 32 10 5.5 S8BO
s2.5 44 as 11 5.5 612
53 a8 as 12 5.5 645
6.5 S8 52 41.5 12 5.5 685
61.5 s6 44.5 14 5.5 720
66 &0 a8 15 5.5 755
70 &4 s1 16 5.5 790
74.5 68 54 17 5.5 825
100RIC10—4 10 o = s b 8 2940 S 62 92 ===
83.5 76 60.5 19 5.5 200
88 8O 64 20 5.5 942
12 92 a4 &7 21 5.5 985
96.5 88 70 22 5.5 1020
102 EE] 73.5 23 5.5 1065
105.5 96 76.5 24 5.5 1100
110 100 80 25 5.5 1135
115 104 83 26 5.5 1175
74.5 72 sS4 8 5.5 1040
84 80 61 E) 5.5 1170
8 93 89 67.5 10 5.5 1200
102.5 o8 61.5 11 7.5 1388
112 108 81 1z 7.5 1570
121 117 87.5 13 7.5 1677
150RIC10—9 55MN13 10 130 126 o4.5 14 12 2940 7.5 62 138 1784
139.5 135 | 101 15 11 1983
149 144 | 108 16 11 2090
158 153 114.5 17 11 2198
16 167 162 121.5 18 11 2306
176.5 171 128 19 11 2415
186 180 135 20 11 2525
a8 aa 39.4 4 5.5 540
50 s5 49.3 s 5.5 | 10s0
15 72 66 s9 I3 7.5 1160
84 77 69 7 7.5 1270
96 88 78.7 a 11 1566
150RIC20-11 6CELC 108 EE) 88.6 s 12 2940 11 67 150 1770
20 120 110 o98.4 10 11 1900
132 121 108.2 11 15 2035
144 132 118 12 15 2170
156 143 128 13 15 2280
24 168 154 134 14 15 2390
180 165 147.5 15 18.5 2557
192 176 157.5 16 18.5 2667
204 187 167 17 18.5 2780
69 62.5 51 s 11 1125
21 B82.5 75 .81 & 11 1260
96.2 87.5 | 71.8 7 15 1645
110.4 100 82 8 15 1780
150RJC30—-12.5 6CL.C 30 124 112.5 92,2 5 8 2940 1s 70 150 1915
138 125 102.5 10 18.5 2140
151.6 137.5 112.8 11 18.5 22758
36 165 150 123 12 22 2468
179.4 162.5 133.3 13 22 2602
62 sS4 s0 4 11 1260
30 77.5 67.5 62.5 s 15 1480
o3 &1 75 & 15 1600
108.5 9a.5 87.5 7 18.5 1780
150RJIC40—13.5 40 124 108 100 8 8 2940 18.5 T2 150 1900
139 121.5 112.5 El 22 2020
155 135 125 10 30 2230
46 170.5 148.5 137.5 11 30 2350
186 162 150 12 30 2470
66 52| a6 4 11 1260
30 82.5 65 | s57.5 s 15 1400
99 78 69 & 18.5 1600
150RJCS50-13 6CHC 50 1155 51 BG.5 = 8 2940 55 T4 150 550
55 132 104 92 8 22 1900
148.5 117 103.5 E] 30 2140
44 40 30 z 11 1840
40 66 60 as 3 18.5 2222
BR RO 60 “ 23 2659
ZO00RJC60—-20 ol 60 110 100 75 3 =] 2940 30 T3 181 3046
132 120 50 [3 a7 3sie
76 154 140 105 7 a7 4720
60 49 45 1 38 2 15 1840
73.5 a7.5 57 3 22 2222
Z00RJCEO-22.5 TCHC 20 o8 %0 5 y Q 2940 30 if £ 181 Se=b
100 122.5 112.5 95 s 37 3220
67 a5 40 28 2 15 1645
68 60 43 3 22 2085
ZO00RJIC90—-20 BERILC ?(1)9 o1 80 =7 P 10 2940 S0 75 190 2525
114 100 72 s ay 2975
290 21.5 18 1s 1 11 650
200RJC125-18 BRIHC 125 £2 26 20 2 10 2940 18.5 76 190 1050
64.5 54 as 3 30 1700
142 86 72 &0 4 a7 2400

ITT GOULDS PUMPS




* RICKHRIFIREARBE

39 34 28 4 18.5 1380
49 42.5 S5 - 22 1680
89 59 51 42 & 30 1980
69 59.5 49 7 37 2215
250RIC130-8.5 10RJHC 130 =5 == = 5 10 el - 78 S e
BY 76.5 63 9 45 2705
150 99 85 70 10 a5 2960
109 893.5 77 11 5. 3305
119 102 B4 12 55 3650
39 34.5 28.5 3 22 | 2050
52 | 46 | 38 4 | ECI 2840
65 57.5 47.5 5 37 3610
125 78 a9 57 6 45 4120
300RJC160—11.5 12RILC 160 A1 20-5 56.5 7 14 1460 55 | BO 295 | 4770
104 92 76 8 75 5520
200 117 103.5 85.5 9 75 | 6270
130 115 95 10 TS | 7020
143 | 126.5 |  104.5 11 %0 | 7770
156 138 114 12 90 B500
27 24 18.9 2 18.5 1470
40 36 28.4 B 30 2050
130 54 48 37.8 4 37 2840
67 &0 47.2 5 45 3610
B0ORJCIES—12 e 185 81 72 56.7 & 14 1460 55 80 295 4120
24 Heq 66 T 75 4770
235 108 96 75.6 8 75 5520
121 108 85 29 [0 6270
135 120 94_5 10 90 JFoz0
29 27 22 2 22 | 1470
154 44 40.5 34 3 a7 | 2050
59 54 45 4 45 | 2840
300RIC220-13.5 12RIHC 220 74 67.5 57 s 12 1460 == | B0 295 | 3610
B9 81 68 6 TS | 4130
264 104 | 945 7o 7 90 | 4795
119 108 91 8 Q90 5815
e oy 30 23 2 37 2262
230 S2.5 45 34.5 3 - 2810
350RIC300-15 14RILC 300 70 50 e 4 12 1460 L 80 346 | 3507
B87.5 R, CH ) 5 90 4332
370 105 0 69 5 110 5235
1225 105 BO.5 7 132 6135
19 16 11.5 1 30 | 1400
270 38 | 32 1 23 2 S | 2262
350RJIC370-16 14RIMC 370 S7 - 24.5 =] 12 1460 > | 80 346 | 2810
76 64 46 4 90 | 3507
460 95 |80 | s7.5 s 110 | 4332
114 96 69 a 132 5235
20.8 18 14 1 37 1400
280 41 36 29 2 S 2262
350RJC400-18 14RJHC 400 62 54 a3 3 12 1460 %0 80 346 | o530
83 72 58 4 110 3507
480 104 50 73 s 132 4452
290 35 30 25 1 55 | 3000
70 a0 50 2 110 5470
400RIC450-30 16BHC 450 105 | so | s 3 22 1475 1s0 | 80 430 | Ss00
140 120 100 ) 200 10100
540 175 150 125 s 250 | 12770
29 27 AT i 1 D) 2768
<A0f2] 58 54 35 2 110 S080
400RICS550—27 16DMC 550 87 81 525 3 20 1475 180 81 430 | 5ags
116 108 70 4 225 9292 |
850 145 135 87.5 s 280~ 14940
520 3s 32 22 1 90 | 4427
70 64 44 2 180 TR25
450RIC650—32 18BHC 650 105 56 66 3 20 14T 2s0 | 80 520 | 10644
250 140 | 128 | 88 4 350+ | 15535
175 160 110 ] 400= 18380
600 34 30 24 1 110 4782
68 (1] 48 2 225 J618
450RIC900-30 18DMC 900 102 20 72 E) 20 1475 315= 82 520 12355
136 120 96 4 400= 14865
1100 170 150 120 5 520 17980
F90 33 29 21 1 110 | 3772
66 S8 42 2 225 7538
SOORJC1000-29 20ELC 1000 o = 22 2 20 1475 225 | 23 600 | 7238
1300 132 iie B4 £} 450= | 15020
200 36 30 18.5 1 150 3932
72 &0 = ird 2 280+ 9875
SO00RIC1250-30 20EHC 1250 = = S z 17 1475 e 84 el JEEE
1750 144 120 74 4 S560= 15605
1500 a6 31 25 1 250 | 6350
SO00RIC2000-31 20GHX 2000 72 62 50 2 22 1475 S00= | 80 e70 12430
2400
B~ ERK VIR 10K VG Fra .
o 513008 RO AT B SL e S A [ BTN ] RIS,
T2 ] T AL L R, 4B TR B 5 FA T IR, 304, 3160F S RH AR AL LT B TR K G0 B 5L,

R
T A E[ I CTRIDTRIB R 5L PR AR RN, 7 6 RS Bl T AR, R 53 AT

ITT GOULDS PUMPS




GOULDS PUMPS

= g
—] 2 = g
== Jmammt
. g oL [ £ g
w - f.‘ \ red
E o ==
®_& £E s A hmmmuul ® 2 g
(&) | 4l SR o= =
m Zas = I/ E
g I 97 o e e e s e sy e .
= el @| |_| = i /7 =
B memm [/ \Rx o
- === == .
= o ST AT
= \\MF @|.||. == LRH.\ =
@ V a I R'.Ir \kh'@. H@H.\*L - o
L\ = nr\|.U m e @ z = U..nf
1 | = g8 Jr & 4 = &
- s s ol = = o
~| | = e B = mH\|ww (YA sl e )
R 3 =2 \O.\ i e 2ien e e S e \ E
— = \\1\” T "

J40RPH

502
0

o)

N

[
N
o]l
I~
15 20

15

e
0]
i 8
2940RTM
200| SOHZ
~
®
 S—
5§ 6 8 10

s ®v 58 9 = = S o oo = W s - £

QW) eGSR o

40
0
10

= RICKHIZIF IR P

ITT




» RICKHTRIF TR B 238 R ) Pl

(©) ! (O)
K Rk
' 1
= I |
1
I
5|
-+
T~
=
|
BERRT
o0
=
‘2N
2 _4-D4 s
. RNEE ||
- i
- ! -
I
BxB
AxA
WH: 1 EFTMTERA LRAGIMTHEARSNRLR
< LAFTTREEF SRARE, FENRAE,
3 ELARENEEFIR RS0 HRA,
4 FehE R Hmm,
5. RAHI, H2, H3, Hi(iES%,
6 RATRERXSERT, FREFRERER,
=7
1 100RJ10-4 5 150RJ40-13 .5 9 | 200RJCI0-20 13 | 300RJC185-12 17 | 350RJC400-18 Al 450RJCI00-30
2 150RJ10-8 6 150RJ50—13 10 | 200RJC125-18 14 | 300RJC220-13.5| 18 | 400RJCA50-30 22 500RJC1000—-29
3 150RJ20-11 7 200RJCE0-20 11 | 250RJC130-8.5 15 | 350RJC300-15 19 | 400RJCHBO-27 23 500RJC1250-30
4 150RJ30-12.5 8 200RJCB0-22.5 | 12 | 300RJC160-11.5 | 16 | 350RJC400-16 20 | 450RJCE50-32 24 | 500RJC2000-31
& ITT GOULDS PUMPS




= RICKARIFIR LR T

| 10 | 1175 | 25944
13 | 1460 | 33444
100RJC10—4 | 15 |335 | 251.4| 92 |76 200 |19 (102 |186 |228 |306|1935 | 45044 | 343 |573 | 127 | 14 | 16228 |M16x 300| M12|6|19.3| 30° {260 |610| 710 200
| 23 | 2410 | 60944
26 2885 | 68444
150RJC10—9 12 [335 | 251.4 1180 | 102 [186 |228 1665 | 76946 | 343 |573| 127 14 | 16228 M12|6(19.3| 30° |260 |610| 710| 200
55N13 l505 382 1R (98 280 19 155 | 235 | 280 30612108 1100839 394 (BO7 |171,5|25.4| 20305 M0 M16|8B| 25 |22,5°380 | 760| 860 | 260
20 2545 125939
%335 251.4 190 102 | 186 |228 12122 i:;;g 343 |573| 127 | 14 | 16|228 M12|6|19.3 30° |260 610|710 200
150:&2_{0:-11 (5| 150 | a8 s 200/ 1342 | 60939 M16 x 300
| 12 |508 | 382 280 155 | 235 | 280 1732 | 80939 | 394 (807 [171.5|25.4| 20|305 M16|8| 25 |22 5°|380 |760| 860 | 260
13 1862 | 85939
6 | 952 | 45846 i
mﬁfgfgn'aisoa 382 | 150 114|280 |19 155 |235 |280 |200 Eli ?(5}2:: 394 ;m.s 25.4| 20|305|M16 x 300/ M16| 8| 25 |22.59380 |760| 860 | 260
12 1732 | 90929
| 4 | | 692 | 33435
6 | 952 |azs0s | o, %)
150RJC40-13.5| g |508 | 382 | 150 |114 280 |19 | 155 | 235 280 |200| 1212 | 65935 g50 | 171.5/25.4| 20 306 |M16 x 300{ M16 8 | 25 | 22.57380 |760| 860 | 260
9 | 1342 | 73435
10 1472 | 80935 | 454 |955
| 4 | 662 | 30935
5 | 792 | 38435 E
150R;::g—13 isos 382 | 150 114|280 |19 155 |235 |280 |200 15:)2522 :2322 394 1 950 171.5|25.4| 20 305|M16 x 300 M16| 8| 25 | 22.51380 |760| 860| 260
8 | 1182 | 63435
9 1312 | 70935 | 4537|955
| 2 | 534 | 23435 |07
| 3 | 696 | 35935 | 394 -
200“;'533'” ?503 382 | 181 [159 (280 |19 155 |235 [280 |365 11525:) :g;:: 171.5/25.4| 20305 |M16 x 300| M16| 8| 25 |22.57380 |760| 860 | 260
6 | 1182 | 70935 | 454 |gs5
7 1344 | 83435
| 2 | 534 126035 | 807 |
200RJCB0-22.51 3 oo | 5ay | 1g1 159|260 |19 | 155 | 235 | 260 365t oo %0 171.5(25.4| 20305 |M16 x 300/ M18 | 8| 25 |22,57380 | 760| 860 | 260
7cHC | 4 | 858 | 53435 | 454 |955 ' '
5 1020 | 68435
2 549 | 23435 807
200RJC80-20 | 3 | 714 | 35835 | 94 [850]
e —;—50«3 382 |190.5[159 [280 |19 | 155 | 235 |280 426 ESap 171.5(25.4| 20305 |M16 x 300/ M16| 8| 25 |22,.57380 |760| 860 | 260
e 454 |955
5 1044 | 60935
L1 | 384 | 10035 | 807 |
200RJC125-18| 2 549 | 20835 394 T8s0
BRJHC | g |908 | 382 |190.5/159 |280 | 19| 155 235 |260 |426( " o o 171.5|25.4| 20 |305 |M16 x 300| M16| 8| 25 | 22.57380 |760| 860| 260
] 454 | 955
4 879 | 43435
4 1176 | 20935 850
6 1603 | 30935 7
250RJC130-8.5| g \soo | 200 | 242 | 19422 |19 | 7% |22% [%7 | 4n6 2028 | 40835 | “** [gs5 17721254 20 [3%® |16 x 300| M16| 8| 25 | 22.59380 |760| 880 | 260
10RJHC 10 2456 | 50935
12 320| [206 5p985/343 2883 | 60935 |564.5/1084/190.5| 38 330
4 1293 | 28440
5 282 1565 | 235|280 1781 | 20840 454 1955 |171.5|26.4 305
300RICIBO—115| g |508 | 389 | 205 |194] |19 540| 2269 | 65945 20 |M16x 300 M16|8| 25 |22.59380 | 760| 860 | 260
12RRC 10 2757 | 70945
320 206.5|298.5 343 565 |1084(190.56| 38 330
12 3245 | 83445

ITT GOULDS PUMPS




= RICKHIZRI TR BIER T

9 805 16840 850
3 292 155 |235 |280 1049 | 23440 | 454 M.5(25.4 [308
SOOb RS2 5 | 508 i e 20 Migx300| M16| 8 [25|22.5°| 380 | 760 | 860 | 260
12RIMC 6 382 | 286|194 —18 b40 1781 | 43445 — x £
8 320 | |206.5298.5343 2289 | 58445 | 565 |1084) 199 5| 38 330
10 2757 | 73445
2 805 15940 850 75
4 282 165 | 235 |280 1293 | 33440 454 E 325 4 305
3%:2;2*3;13_5 ° | 508 382 | 295|194 19 b4p| 1537 | 40945 20 Migx300| M18| 8 |25|22.5°| 380|760 | 860 | 260
6 320 206.5298 5343 1781 | 48445 | 565 |1084(190.5 38 330
i} 2269 | 65945
2 851 | 15960 955
300RJC300—15 3 1143 | 23460 .
M1 300
i 5 | 560 408 |346 |219[405 |19| 257 | 380{395(479 5757 T 0060 470 |1049| 246 | 40 254|355 | MEx300 M20| 12 28 15
7 2311 | 38480 1140
1 550 | 8460 a55
2 851 18460
HEORICIF01G ) 560 | 408|346|219| 405|19| 257|350 /395|479 1143 | 28459 470 1045 245| 40 125 4/355 |MI6x300{M20(12|28| 15 | 500 [1000[1140 | 260
14RIMC 4 1435 | 38460
5 1727 | 484860 1140
6 2019 | 58460
1 559 | 8460 955
350RJC400—18 = L, 18t 1048
3 GB0 | 408|346|219| 405|189 | 257 |350395|479| 1143 | 26960 | 470 245| 40 |5 4/355 |MIEx300({M20(12|28| 15"
15,3t als 4 1435 | 35960 o
5 1727 | 45960
1 616 16000 10489
2 560 | 408 19| 2567 |350|3485 a7 36000 | 470 (1200 356 |M16x300{M20
”":'UF“J;B?S_GQ 3 430/ 225| 410 42713268 | 53500 1350| 245 40 |28 12|28| 15°
4 | 800 | 650 28| 250|355 | 405 1682.4 | 71000 | g |1455) 500 | M24 x400| M24
5 2308 | 88500 1455
1 661 | 16000 1049
560 | 408 19 M20
: 257 350(395 s pemsy L pea e 356 |Mi6 30
ADORJCEE0-=27 3 430|325/ 410 427| 1438 | 48500 1350 12|28 15* | 500 [1000(1140 | 260
500 | M4 400| M24
16DMC 2| 800 | 650 28| 250355405 “535 | ehoon ]| 99 [iaee
B 1050 | 840 46| 457 | 585|640 2211 81000 (1400 |2390| 395 610 |MiZx630(Mm27 (20 (42| g°
04
1 550|508  |048.5]18500]  [1049 M20]16|2811.25°
2 879 |38500[1110[1200
45°“f§£f_32 3 |1050| 940|520/ 377| 95|46 | 457 500|1209.5| 56000  |1455|395/40 [26 |6 1 0263
4 585|640 1541 | 76000 o) M27|20(42| 9°
5 1870 | g6000] 4%°[23%
12 550|595 1?13:5 :‘:ﬁ 1110% M20|16|28(11.25°
450RJCY00—30
18DMC 5 |1050| 940|520 402 495| 46| 457 500| 1581 | 53500 39540 26 |5 10M42 630
4 585|640 2007 |71000(1400/2390 M27|20|42| 9°
5 2432 5| 88500
1 774.7 | 16000 1200
S00RJC1000-29 | 2 °901598 I3t 8laas00| 1485 M20118 28| 11.28"
L 3 |1050| 940|600/ 402 495 45 457 o s e 395|40 [26 810t x50
585|640 : 1400/2390 M27|20|42| @°
4 2146 .3 68500
774.7]16000[1110 ,
12 550(508 (- 1200 M20)16|2811.25
500“;‘5;32‘3_30 511050/ 940|600| 402 495 46 457 500 =09 11 56000 11400 bago225| 4O [26 B10pMeL83
585|640 : M27|20|42| &
4 21463 76000
500RJC2000—31 1 550|595 858 |1B500(1110/1455 M20|16|28(11.25°
1050 | 940|670 480| 615/ 46| 457 500 395|40 {30 |610|Mizx6 -
20GHX 2 585|640 1404 | 3600 14002390 [6 1‘1M2?' 20[42| 9
. OKERSIENTERNS. TEAZERS, # "+ WONSHBE (6KVRIOKV) &4,






